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CHEMISTRY
(General)
Full Marks — 40

Time — Two hours

The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

G Tl SPTES Ted Sl |

1. Answer the following questions : 1x5=5
weTe faicaiea B ft ¢ |

(a) Why is the bond angle FOF in F,O smaller
than the bond angle CIOCI in CLO ?

F,0 3 =R @9 FOF, Cl,03 A P
CIOCI stz = foae

(b) The ionic radius of oxygen is 140 pm, 80
pm longer than its-atomic radius. Why ?

sfEresa s aEde o 140 pm ®
sy i e 80 pm @zl e
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(c) Name the first real compound of the noble
gases. -

AT (o 94w g e el a B

(d) Copper is considered as a transition element
though it has completely filled 3d orbitals.
Why ?

PR 2RI 3d SRECGES Brarg 7wyl Tz 2
TGS TR [ STl (et 91 faasa ==
= 2

(e) Explain why Pb* is better oxidant than Sn*+,
Sn*ets Pb** e Teg® TR Qi =

2. (a) What is 'styx' code of boranes ? Give the styx
code of B,H and B I 1Y5+1=2V5

TCEPRIR 'styx' Jpcs w2 BH, @is B H, 3
oI et

4

(b) 'Compounds of S and P block elements are
' generally colourless, but those of transition
metals are generally coloured.! How would
you explain this behaviour ? 2V

'S W% P 39y GNeTa P sieieeics aaei8i
23, % e CTIeT (T19PTE 991y 23
G2 SBR (REAE WA TR
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3. Answer any two :

1 coit qore Tew foran ¢

(a) (1) Discuss the catalytic properties of tran-

sition elements. 2
FREFTIE CTETTed SRR 43 SITeioa
<4 |
(i1) Write notes on : 116%2=3
oY (B ferat g
(i) Pseudohalogens
oo PR
(i1) Nitrides.
WRGRE AZ|

(b) (i) Give the preparation and structure of the
following interhalogens. 1%2=3
TSl St e gwfe i
siom foral |

_ ClF3 and / S IF5.

(i) Why does beryllium differ from other

members of its group ? 2
Rfferars 2ai 25fe 2= o GTs FTjecs
fea sj2 2
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(c) (i) Describe the role of a metal compoﬁnd T g (i) Explain why borazine is called inorganic

in medicine. 2 benzene. 3
BILT IRTS Hoq TS B o Bl | awwmﬁmmw
. AR <R |
(i) Describe in brief the biological role of (iii) Discuss the diagonal relationship be-
the following elements : 1%3=3 tween Be and Al‘cf =
Be 9= AlF Wi ¢ S99 [acy SICETo
woTe il GePTza (o) IpiEies SIER it
HE N o |
(1) Chromium (@=fr@iw) (b) (i) Name two important ores of chromium.
A1 i How is chromium extracted from its
(2) Zing (Fr=) important ore ? 2+3=5
(3) Copper (=) | TR 451 Y [ AW B g2y
SIS o} FREN e Fw
?
4. Answer any two. 10x2=20 =
ﬁ PG wBE T foren 3 | (if) Write the laboratory method of prepara-
tion of K,Cr,0, from K,CrO,. How does
(a) (1) What is eIectronegatnvxty ? What are the K.Cr 6, St w1th ot HCl 9 24123
factors which affect the electronegativity
of an element ? Discuss the trend of K,CrO 3 »[1 K,Cr,0.7 =efes eirasmier
electronegativity among the elements in | /% C'@I fe1=t | sip HCR e K,Cr,0,@
a period and in a group. 1+2+2=5 ﬁfﬁ‘@ faferat wme
feaeret o & & @ Gﬁ?:‘ B (i) Give the IUPAC name of the following :
Ryjeairers eo/® 2for (s 2 si=fia o (any . two) )
Tl are CTePrEs fgederel R s @R [UPAC ammese <sai1 (R
T e G HBY) ¢

[CO(CN),ICI,, K [Fe(CN),], Ni(CO),
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(c) (i) Derive Nernst equation relating emf of

(i1)

a cell with the concentration of the
reactants and products of a reaction. Write
the cell reaction and calculate E° for the

cell given below. 3+2=5

i [ignm e o Seom wme
Al SiF Ry 5EF 1 (emf) e
FFEY ANBT AT Bl 91 | TS
vl R E [T B o Eo g
T SieE /1 |

Zn|Zn*(IM) I Fe**(IM) | Fe**(IM) | Pt
Given E"Fe: +0.77V and E"an -0.76V.
o WE“Fez +0.77V == E“an —-0.76V.

How can you explain the variation of
molar conductance of a strong electrolyte
with concentration ? What is meant by

molar conductance at infinite dilution ?

wi e Rosws var e siveR
e e «iffafSe =g e o111 e
wgeie WaE A iEe 3P & 3o
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¢ (ili) Write short notes on : 1%2=2

(d) (i)
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53 (B ferdl g
(1) Fuel cell
TH (T

(2) Quin hydrone electrode.
T 22GA FERE T |

Fill in the blanks : 1x5=5
AR 5B = I

(1) In a cell containing iron electrode and
SHE iron acts as
w29 BEE© oliE SHE 2= iF
a5re SZACS f2oiest fam= = |

(2)The unit of specific conductance is

a2 sifaifzer v g9 ——

(3)The name of the scientist who
presented the theory of ionisation of
electrolyte is ;

e R SaTee" ©g SisResH]
Ao AN g5 |
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(4) In a galvanic cell, oxidation occurs
at the

10 M AT = LSO B = T
© W0 |

(5) Kohlrausch's law is applicable only
at of a solution.

79 «BiY TR A T 5 |

(ii) What do you mean by transport number?
Discuss moving boundary method for the
determination of transport number of
ions. 1+4=5

IS e & ge ésrmqamwﬁcﬁr
99 GeRI mfS I 5 |

3/3 (Sem 3) CHM (8) 8000(W)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

